NAME

DATE

PER.

SQUARE ROOTS

Simplify.

1. 8v/3-6V3 = 2. 95 + 44/5 =

3. —13V17 — 717 = 4. 913 —6V11 ++/13 =
5. 5v3 + 2V/75 = 6. —2v24 — 36 =

7. 332 — 4/63 = 8. 345 + 74/36 =

9. 5128 + 245 = 10. =475 + 3v147 =
11. —11V8 — 7412 = 12. V150 — 5v/96 =

13. 5v80— 125 =

14. —4+/2 4+ 67/72 — 832 =




15. 5v28 + 27 — V14 =

16. —3vV72 + 652 — 7128 =

17. —/338 —/200 + V162 =

18. 4V112 + 5vV56 — 9V126 =

19.v3-V11= 20. (—4+3)(-2v5) =
21, (VI1)* = 22. (V6)" =
23.3V7-5V7 = 24. (92)" =

25. —2v/4-4V5 = 26. —5v3- 6v3 =




27.3V2 -84 = 28. §\E=
29. 44/5 - 2/10 = 30. %\/%:

3L, ﬁj} 32. (10v3)" =
33.2v18-3/5 = 34./20 -6 =
35. —3v/3-V/18 = 36. 7v/2-V/10 =

38. (—5v8)(-3vV5) =
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